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class (d{kk) % VIII
mathematIcs

(xf.kr)
(Summative Assessment - I)
(ladyukRed ewY;kadu & I)

Time : 3 Hrs.  Maximum Marks : 90
fuèkkZfjr le; % 3 ?kaVs   vfèkdre vad % 90
General Instructions :
1. The question paper consists of four sections - A, B, C and D. Section - A consists of 4 questions  
 of 1 mark each; Section - B consists of 6 questions of 2 marks each; Section - C consists of 10  
 questions of 3 marks each and Section - D consists of 11 questions of 4 marks each. 
2. All questions are compulsory.
3. In questions on construction, the drawing should be neat and exactly as per the given  
 measurements. User ruler and compass only.
4. There is no overall choice. However, internal choices have been given in some questions.  
 Attempt any one question in such cases.
lkekU; funsZ'k %
1- bl iz'u i=k ds pkj [k.M gSa & v] c] l vkSj nA [k.M&v esa 4 iz'u gSa ftuesa izR;sd dk 1 vad  
 gSA [k.M&c esa 6 iz'u gSa ftuesa ls izR;sd ds 2 vad gSaA [k.M&l esa 10 iz'u gSa ftuesa ls izR;sd  
 ds 3 vad gSa rFkk [k.M&n esa 11 iz'u gSa ftueas ls izR;sd 4 vad dk gSA
2- lHkh iz'u vfuok;Z gSaA
3- jpuk ds iz'uksa esa] jpuk LoPN rFkk Bhd gksuh pkfg,] tks fn, x, ekiksa ds vuq#i gksA dsoy iqQVs  
 rFkk ijdkj dk iz;ksx djsaA
4- iz'u i=k ds dqN iz'uksa esa dsoy vkUrfjd fodYi fn;s x;s gSaA bu iz'uksa esa dsoy ,d fodYi dks  
 gy djsaA

Roll No. (vuqØekad) ------------------------------   Code (dwV la-) % 820154-1-SA1(M)

Please check that this question 
paper contains 31 questions 
and 8 printed pages.
Ñi;k tk¡p dj ys a fd bl 
iz'u&i=k esa 31 iz'u rFkk 8 Nis 
gq, i`"B gSaA

sectIon - 'a' ([kaM&^v*) 
Question number 1 to 4 carry 1 mark each. 

iz'u la[;k 1 ls 4 rd izR;sd iz'u 1 vad dk gSA

1. Write a pythagorean triplet whose smallest number is 6.  

,d ikbFkkxksjl f=kd fyf[k, ftldh lcls NksVh la[;k 6 gSA

2. Evaluate by using suitable identity : (176)2 – (24)2  

mfpr loZlfedk dk iz;ksx djrs gq, (176)2 – (24)2  dk eku Kkr dhft,A
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3. If a polyhedron has 10 faces and 12 vertices, then how many edges it has?  

;fn ,d cgqiQyd ds 10 iQyd rFkk 12 'kh"kZ gksa] rks blds fdrus fdukjs gSa\

4. Find the height of a cuboid whose volume is 275 cm3 and base area is 25 cm2.  

,d ?kukHk dh Å¡pkbZ Kkr djsa] ftldk vk;ru 275 cm3 gS vkSj vk/kj dk {ks=kiQy  

25 cm2 gSA

sectIon - 'b' ([kaM&^c*) 

Question number 5 to 10 carry 2 marks each. 

iz'u la[;k 5 ls 10 rd izR;sd iz'u ds 2 vad gSA

5. Evaluate  (eku Kkr dhft,) % 98 162×

oR (vFkok)

 Evaluate (eku Kkr dhft,) % 288

128

6. Find the smallest number by which 1323 must be multiplied so that the product is 

a perfect cube.          

og lcls NksVh la[;k Kkr dhft, ftlls 1323 dks xq.kk djus ij xq.kuiQy ,d iw.kZ 

?ku izkIr gksA

7. Simplify  (ljy dhft,) % ( )3 1728 512× −

8. Mohan bought cooler for ` 5400 including VAT at 7%. Find the original price of 

the cooler.           

eksgu us ,d dwyj 8 çfr'kr oSV ds lkFk ` 5400 esa [kjhnkA dwyj dk okLrfod ewY; 

Kkr dhft,A
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9. The area of a trapezium is 176 cm2. The distance between its parallel sides is 8 cm 

and one of the parallel sides is of length 10 cm. find the length of the other side. 

,d leyac dk {ks=kiQy 176 cm2  gSA bldh nks lekarj Hkqtkvksa ds chp dh nwjh 8 cm 

gSA vkSj buesa ls ,d lekarj Hkqtk dh yackbZ 10 cm  gSA nwljh lekarj Hkqtk dh yackbZ 

Kkr dhft,A

10. Find the volume of a solid cube whose total surface area is 486 cm2.   

,d Bksl ?ku dk vk;ru Kkr dhft,] ftldk lEiw.kZ i`"Bh; {ks=kiQy 486 cm2  gSA

sectIon - 'c' ([kaM&^l*) 

Question number 11 to 20 carry 3 marks each. 

iz'u la[;k 11 ls 20 rd izR;sd iz'u ds 3 vad gSaA

11. What least number must be added to 5607 to make the sum a perfect square? Find 

the square root of the perfect square number so obtained.     

og lcls NksVh la[;k Kkr dhft, ftls 5607 esa tksM+us ij ,d iw.kZ oxZ la[;k izkIr gksA 

izkIr iw.kZ oxZ la[;k dk oxZewy Hkh Kkr dhft,A

12. Find the square root of 4½, correct to two places of decimal.   

4½ dk oxZewy n'keyo ds nks LFkkuksa rd 'kq¼ Kkr dhft,A

13. Find the cube root of 110592 through estimation.     

110592 dk ?kuewy vuqeku }kjk Kkr dhft,A

14. Evaluate (eku Kkr dhft,) % 3 2744000−

15. If the weight of 8 sheets of thick paper is 40 grams, how many sheets of the same 

paper would weight 1½ Kilograms?        

;fn eksVs dkxt dh 8 'khVksa dk Hkkj 40 xzke gS rks ,sls gh dkxt dh fdruh 'khVksa dk 

Hkkj 1½ fdyksxzke gksxk\
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16. A man bought bananas at the rate of 10 for ` 15 and sold at the rate of one dozen 

bananas for ` 15. Find his gain or loss percent.       

;fn ,d O;fDr ` 15 ds 10 ds Hkko eas dsys [kjhnrk gS vkSj ` 15 ds ntZu ds Hkko esa 

csprk gS] rks mldk ykHk ;k gkfu izfr'kr Kkr dhft,A

oR (vFkok)

 A mobile phone is sold for ` 3120 at a loss of 4%. What will be the gain or loss 

percent, if it is sold for ` 3,640?        

,d eksckby iQksu 4 izfr'kr dh gkfu ls ` 3120 esa cspk tkrk gSA mldk ykHk ;k gkfu 

izfr'kr D;k gksxk ;fn bls ` 3]640 esa cspk tk;s\

17. Factorise (xq.ku[kaM dhft,) % 2 3 54x x− −

18. In the given figure, show that  
(i) AB � CD  
(ii) CD � EF  
(iii) AB � EF  
Justify your answer.  
fn, gq, fp=k esa] n'kkZb,   
(i) AB � CD  
(ii) CD � EF  
(iii) AB � EF   

mÙkj dk lR;kiu Hkh dhft,A

oR (vFkok)

 In the given figure, l � m,  

then find a and b.  

fn, x, fp=k esa] l � m gSA  

a  vkSj b  Kkr dhft,A
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l

m

500

b0

(3a+18)0

(2a+12)0

500

200

300

1500

A B

E F

C D
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19. In the given figure, 065P∠ =  and   

RT � PQ. If 050TRS∠ =  find   

PRT∠  and the remaining two   

angles of the triangle.   

fn, x, fp=k esa] 065P∠ =  vkSj   

RT � PQ  gSA ;fn 050TRS∠ =  gks   

rks PRT∠  vkSj f=kHkqt ds vU;   

nksuksa dks.k Kkr dhft,A

20. The number of shoe pairs sold from an outlet of a company in a particular 

week are given below :       

,d fo'ks"k lIrkg esa daiuh dh ,d nqdku ls csps x, twrksa ds tksM+ksa dh la[;k uhps nh 

xbZ gS %

 Draw a graph for the data given above.       

Åij fn, x, vk¡dM+ksa ds fy, vkys[k [khafp,A

 alternative question for visually challenged students in lieu of Q. 20  

n`f"V ckfèkr fo|kfFkZ;ksa ds fy, iz- 20 dk oSdfYid iz'u  

A shopkeeper has enough money to buy 40 books, each costing ` 125. How many 

books he can buy if he gets a discount of ` 25 on each book?     

,d nqdkunkj ds ikl ` 125 ewY; okyh 40 iqLrdsa [kjhnus ds fy, i;kZIr /ujkf'k gSA 

;fn izR;sd iqLrd ij mls ` 25 dh NwV feys rks og fdruh iqLrdsa [kjhn ldrk gS\

3

3

Day 
fnu

1 2 3 4 5 6 7

No. of pairs sold 
csps x, tksM+ksa dh la[;k

20 24 18 16 17 22 12
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sectIon - 'd' ([kaM&^n*) 

Question number 21 to 31 carry 4 marks each. 

iz'u la[;k 21 ls 31 rd izR;sd iz'u ds 4 vad gSaA

21. The students of class VIII of a school donated ` 7225 for earth quake victims of 

Nepal. Each student donated as many rupees as the number of students in the 

class. Find the number of students in the class. Which value is depicted by the 

students?           

,d fo|ky; ds d{kk vkBoha ds Nk=kksa us usiky ds Hkwdai ihfM+rksa ds fy, ` 7225 nku 

fn,A izR;sd Nk=k us d{kk ds Nk=kksa dh la[;k ds cjkcj jkf'k nku esa nhA d{kk ds Nk=kksa 

dh la[;k Kkr dhft,A Nk=kksa ds }kjk fdl ewY; dks n'kkZ;k x;k gS\

22. In a fort, 300 men had provisions for 90 days. After 20 days, 50 men left the fort. 

How long now would the food last at the same rate?     

fdlh nqxZ esa] 300 vknfe;ksa ds fy, 90 fnuksa dh i;kZIr Hkkstu lkexzh gSA 20 fnu ds ckn] 

50 vkneh nqxZ ls pys tkrs gSaA mlh nj ls 'ks"k Hkkstu lkexzh vc fdrus fnu pysxh\

 oR (vFkok)

 Ramesh starts his journey to a certain place by car at 9 a.m. and reaches the 

place at 1 p.m., if he drives the car at a speed of 30 km/hr. By how much 

should he increase the speed so that he can reach the place by 12 noon? 

jes'k fdlh LFkku ds fy, viuh ;k=kk lqcg 9 cts dkj ls 'kq: djrk gS vkSj ml LFkku 

ij nksigj 1 cts igq¡prk gS tc mldh dkj dh xfr 30 fdyksehVj izfr?kaVk gSA mls 

vius xUrO; LFkku ij nksigj 12 cts igq¡pus ds fy, viuh dkj dh xfr fdruh c<+kuh 

pkfg,\

23. How long will a train 210m long take to clear a platform 165 m long, if its speed is 

50 Km/hr?           

210 ehVj yEch ,d jsyxkM+h 50 fdyksehVj izfr?kaVk dh pky ls 165 ehVj yEcs ,d 

IysViQkeZ dks ikj djus esa fdruk le; ysxh\
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24. Rakhi allows 8% discount on the marked price of a suit and still makes a profit of 

15%. If her gain over the sale of a suit is ` 156, find the marked price of the suit.  

jk[kh dks ,d lwV ds vafdr ewY; ij 8 izfr'kr dh NwV nsus ij Hkh 15 izfr'kr dk ykHk 

gksrk gSA ;fn bl lwV dks cspus ij mls ` 156 dk ykHk gksrk gS rks lwV dk vafdr ewY; 

Kkr dhft,A

25. Nidhi purchased two sarees for ` 2,150 each. She sold one saree at a 

loss of 8% and the other at a certain gain. If she had a gain of ` 1,230 on 

the whole transaction, find the selling price of the second saree.    

fuf/ nks lkfM+;k¡ izR;sd ` 2]150 dh [kjhnrh gSA og ,d lkM+h 8 izfr'kr gkfu ij csprh 

gS vkSj nwljh dks dqN ykHk ij ;fn iwjs ysu nsu ij mls ` 1]230 dk ykHk gksrk gS rks 

nwljh lkM+h dk foØ; ewY; Kkr dhft,A

26. Factorise (xq.ku[kaM dhft,) % 
2

2 2 4 2
4 4

9 3 3
c bc ca

a b ab+ + + − −

27. Factorise (xq.ku[kaM dhft,) % ( )2 2 264 144 81 25m mm n p− + −

28. Draw a line segment AB = 6 cm. Find a point Q on it such that AQ = 2
3

 QB.  

AB = 6 cm dk ,d js[kk[kaM [khfp,A bl ij Q ,d ,slk fcUnq Kkr dhft, ftlls fd 

AQ = 2
3

 QB  gksA

 alternative question for visually challenged students in lieu of Q. 28  

n`f"V ckfèkr fo|kfFkZ;ksa ds fy, iz- 28 dk oSdfYid iz'u  

A dealer allows a discount of 16% to his customers and still gains 5%. Find the 

marked price of a table which costs him ` 1200.      

,d O;kikjh dks vius xzkgdksa dks 16% dh NwV nsus ij Hkh 5% dk ykHk gksrk gSA est 

dk vafdr ewY; Kkr dhft, ;fn og mls ` 1200 esa [kjhnrk gSA

29. Plot the points A (2, 2), B (5, 2) C (5, 5) and D (2, 5) on graph. Connect the points in that 

order so as to get a closed figure ABCD. Find the area of the figure so obtained.  

fcUnqvksa A (2, 2), B (5, 2) C (5, 5) vkSj D (2, 5) dks vkys[k ij n'kkZb,A fcUnqvksa dks bl 

Øe ls tksM+s fd ABCD ,d can vkÑfr izkIr gksA izkIr vkÑfr dk {ks=kiQy Hkh Kkr 

dhft,A
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 alternative question for visually challenged student in lieu of Q. no. 29.  

ç- la- 29 ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u  

A cylindrical well is 21 m deep. Its inner diameter is 14 m. Find the cost of 

rehovating the inner curved surface and the base at the rate of ` 25 per m2.   

,d csyukdkj dq,¡ dh xgjkbZ 21 m gSA bldk var% O;kl 14 m gSA ` 25 izfr oxZ ehVj 

dh nj ls blds var% i`"B rFkk vk/kj ds uohuhdj.k dk [kpZ Kkr dhft,A

30. The volume of metal in a metallic cylindrical pipe is 748 cm3. Its length is  

14 cm and its external radius is 9 cm. Find its thickness.  

/krq ds ,d csyukdkj ikbZi esa /krq dk vk;ru 748 cm3  gSA ;fn bldh yEckbZ 14 cm 

vkSj bldh ckgjh f=kT;k 9 cm gks rks ikbZi dh eksVkbZ Kkr dhft,A

 oR (vFkok)

 W a t e r  i s  p o u r i n g  i n  t o  a  r e s e r v o i r  a t  t h e  r a t e  o f  6 0  l i t r e s 

per minute. If the reservoir can hold a maximum of 108 m3 of water, 

find the number of hours it will take to fill the reservoir.   

,d tyk'k; esa 60 yhVj izfr feuV dh nj ls ikuh Mkyk tk jgk gSA ;fn tyk'k; esa 

vf/dre 108 ?ku ehVj ikuh vk ldrk gS rks Kkr tyk'k; dks Hkjus esa yxs ?kaVksa dh 

la[;k Kkr dhft,A

31. A closed metallic cylinder has its base diameter 56 cm and it is 2.72 m high. Find 

the cost of the metal used to make it if, it costs ` 80 per square metre.   

,d /krq ds can csyu ds vk/kj ij O;kl 56 cm vkSj Å¡pkbZ 2-72 m gSA ` 80 izfr 

ehVj dh nj ls csyu dks cukus ds fy, iz;ksx esa yxh /krq dk ewY; Kkr dhft,A
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